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Iwive descrve - lair,

ﬂ the, the

(M) noarticle, the
prateful,

None bt

(‘) o, an

(1) the, no articke

I yous hielpome, |

() will be remain (%) shoubd remamn
will remnin (%) would reimam

Which is the correct form ol Assertive of

“Who does not like o rose?”

(%) Al of us likes a nivwe

(%)  Nobody likes o rose.

(*)  Everyone dislikes a rose,

Q" Liveryone likes o rose,

Had you walked [ast, you—ihe train.

The correct for verb will be—.
(%) wi
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(97 R0 Sfetm wm (V) cormes g
AT ey have missed
;)r‘ WSy ke bl b wouldnnt have missed
(N =g e Y)O Y) would not miss .
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‘I know you.” Choose the complex form—

7 | know what you are.
(¥) | know who you are.
(*1) I know what are yo

(%) I know who m
course o ’? me a famous

In (¥ Of ("1) For (%) By
——— ink in my pen is red.
= A The (") An (W) No article
Complete sentence with  appropriate
word : Poly ran fast lcusho—muﬁchm.
(¥) could (%) would (%) can should
Which one is correct?
(¥) " There is no place for doubt in it.
% There is no space for doubt in it.
There is no room for doubt in it,
(¥) . There is no arca to doubt in it.
Which one i the correct English translation
of “wrray el el ey
(¥) Ignorance is vociferous.
(%) An idle man speaks much.
(") A barking dog scldom bites.
An empty vessel sound much.

Thc doctor will come back to the ward in no
. The underlined phrase means—
instantly (¥) hardly

(*1) always (%) ne

The memoranda — not OYB

(®) is

(*1) have a

The word ‘decade” refers to—

(%) thirty years (%) fifty years

(3~ ten ycars (V) twenty five ycars

No spelling occurs in—

H)) extravagant (¥) pronounciation

(*) spurcous (%) temporery

-

{oﬂobs

translation is—
(¥) The tree can not bear fruit.
47 The tree has not given fruit yet.
(*) The tree has not caught any fruit.
(%) The tree has not yet borne fruit.
The word *heritage’ refers to—
(¥) heir tradition
(*1) legitimacy (W) mtngue
1 The Pﬂﬁnm;@ is high in our country.

nd into a mango orchard?

i

as if (¥) would rather
() what'sitlike  Off whatif
nee is obstaclo—progress.

( o (%) for (1) with (%) from
»8 | . Very few insects are as busy as abee. The
comrect comparative form of the sentence is—
‘W Abeelsbumrllunvcryfewuuects.
(¥) A bee is busier than few insccts.
?U A bee is busier than most other insects.
%) A bee is more busy than other insects.
Fifty miles — not a long distance.
(%) are is
(") have been (¥) were
He came home yesterday. Choose the
correct interrogative form of the sentence—
Did he come home yesterday? -
¥) Did he not came home yesterday?
(*) When did he come home?
(¥) When does he come home?
The verb form of dnn?n; i5— .
(¥) dangered ¥) endange
(" indmger (9 endanger
‘uEs The translation is—
is not gold.
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g!ﬂ YOu SOW, SO You rea
0\)5 (*1) A stitch in time, saves :me

(ﬂ) The more you work, the more you get.
the correct answer—
I will avail myself of the opportunity.
(%) I shall avail of the opportunity.
(*n I will avail myself with the
opportunity.
(%) [ shall avail myself the opportunity,
Y00 | The antonym of ‘vice' is—
(¥) honesty (¥) values
(% virtue (%) truthful



